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for the questicns

L Give the correct answer from the following :

@) Write down the synthetic equivalents
(SE) of the following synthens :
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Which of the fcllowing Co“‘l’ound
shows $NMR signals? N
CH3

®)

i
1 CH;\'-*C"‘NHI
el i
CHj;
|
ﬁn‘} cHS—CHZ—O——CHg—C——OH

(c) Which of the
dye?
) Orangel
() Congo red
(i) Butter yellow

(iv) Methyl red

Which of the followin
not exist in isotactic,
atactic forms?

) Polypropylene -
(i) Polyethylidene chloride

(fll} polyvinyl chloride
(iv) Polyacronitrile

(d)
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(3)

which of the following techniques

() cannot  be considered  as  Green
symhctic method?
(i) Derivatization method
(ii) Microwave assisted reaction
(i) Ultrasound assisted reaction
(iv) Use of catalytic reagent
Describe the synthesis of the following

2' {a} ., FJ
target molecule (TM) showing the mode
of disconnection : 3
OH
OL\ NH

(p) Which of the following will have greater
Amax and why? ' 1
(ii) @-ﬁmcfa

(¢ Give the names of the monomer units
that are used to produce the following :

1+1=2
() Terylene
(i) Nylon-6,6
PI5—
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(d) Calculate the atom efficiency &
following reaction : &

3

(])H
O Fotonsuns,
H 0]
I

ST g

UNIT—I

3. Synthesize the following compound With the
help of retrosynthetic analysis :
NH,

CH3—CH,—CH—COOH
Or

Name the three basic operations required in
retrosynthetic analysis. Give two synthetic
equivalents of ®S0,H and C1°. 1423

1 +2=3

4. Synthons may or may not be reaction

“"

T

intermediate of a synthesis. Explain. /)
5. How will you carry the following conversions?
1x2=2
H = — >§ 7<
o d
Define the terms, ‘target molecule’ an
‘synthons’. -
Confinué
P15—1500/591 (

(5)

UNIT—I[

Woodward’s

6. Using rule, predict
wavelength of maximum absorption for e:::h}:
of the following compounds : c1+1 2
C{{J ‘E
{[l) /C=CH —CHj
CHj3
7. (@) Why is TMS used as ap internal

standard in NMR spectroscopy?

(b)

A compound with molecular weight 116
gave the following spectral information :

) UV : 283 mp Emax22
(@ IR : 3000-2500 (b), 1715 (s),

1342 cm™! (w)
fit) NMR : 7-88 1 singlet (3H), 7401t

triplet (2H), 7-75 1 triplet (2H) and
-11 7 singlet (1H)

Find the structural formula of the
compound. S

PI5—1
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UNIT—III

What do you mean by essentiz] fatty
“ ‘;:157 What are the functions of fars>
- - 1"'1.‘_2
Or
What are the functions of triglycerides>
' 2
Explain.
What is rancidity? How can you prevent

&) 1+1=2

rancidity?
Oor

What are the ‘bad’ fats and which foods
contain them?

UNIT—IV

What are the requirements of a

e two
substance to act as a dye? Nam e
substances which meet

requirements.

9. (a)

: Ed
( Contunu
P15—1500/591

1+1=2

A )l

10. (a)

(b)

PlS—)50
]

P %

¥

(7))

Cr

Account for the colour
occurring when phenolphthalei
as indicator in acid-base titra

How are the fol]owing Compounds
synthesized in the laboratory» 1%x2=3
() Malachite green
(2) Fluorescein

Or

Write the structural formulas of the
following  dyes  ang

changes
N is used
tion. 2

mark the
chromophore and auxochrome in each
case : 1x3=3
) Congo red
(i) Alizarin
(@) Rosaniline
UNIT—V

Write a stepwise mechanism for the
polymerization of Propylene in the
presence of sulphuric acig. 2

contains 30%
molecules of molecular mass 20000,

molecules of molecular mass

30000, and the rest of molecular mass
60000. Calculate the number and

weight average molecular mass of the

Polymer sample. Estimate - the
Polydispersity index of the sample. 2+1=3
0/591 ( Turn Over )
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(8) h

Or

Arrange the following _pOIYmerS .
increasing order o-f their intermolecy],,
forces. AlsO classify them as addition
and condensation polymers :

149,
S
Polystyrene, terylene, natural rubpe,

(c) Giving suitable example, illustrate
mechanism  of  anionic  additig,
polymerization.

UNIT—VI

11. (a) Write the advantages of using water a5
Green solvent. ;

Or

Why biocatalyst has many advantages
in the context of Green chemistry?

(b) What is phase-transfer catalyst? Give
an example. 1

* Kk %k
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